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A and B are working separately can do a piece of work in 9
days and 12 days respectively. If they work for a many day
alternatively A beginning, in how many days, the work will

be completed?
A 3T B ART-TAT FIH FX (g & vAM: 9 femr siw 12 fer &

FTH FT TH TheT FL T4 3| IXTICRIAE TF R{FF0 79
W%‘,@TW%QWAﬁa‘r,ﬁmﬁﬁﬁﬁaﬂa%r@

STTIT?




A sum of money was divided between Shivani and Pramita in the
ratio 5 : 7. If pramita gave Rs. 5 to Shivani, the ratio would
change to 3 : 4. What is the sum of money that got divided?

5: 7.% AT | ATt 3 wAar & fi= &= 1 Seawy fHaw 719w 9m
Ff< gffar 7 5 T famt Fr i av e 3 : 4 ¥ a5 ST O
T JIT T AT ST FAsrisra forar =T 21 SSC CPO 2020

' (a) Rs. 420

| (b) Rs. 432
" (c) Rs. 396
| (d) Rs. 408
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| 5 Raksha can complete a piece of work in 27 days while Esther
J take 45 days to complete the work. They start working

l

together, but Raksha leaves 9 days before the work gets
over. For how many days does Esther work?

T FE Hr 27 oA § QT FT Gadt §, T TEAT Y FTH T \
FA H 45 o T g1 F TF T FTH FEAT L€ FLQ 8, AThT H1A

T g 9 9 R ags wr e I 2 Qﬁ'{ﬁrﬁrﬁﬂ‘r%mm 29
FAT &7 SSC CGL 2020 (b) 18.5

(c) 13.5
(d) 10
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A cosmetic shop has different brands of cosmetics and
accessories. 50% of the store's sales come from selling hair
accessories. 40% comes from personal hygiene products. Every
quarter, the store's sales on an average is Rs. 1500000. What is
the shop's approximate average monthly sales from personal
hygiene products?

TS HIHTEH ATT H HICHATERT T TFAU o FAT-3TAT FiS gl LI
fshY T 50% ST ATHT 9 A 1T 81 40% ARFROSG ST R4y
AT 21 wAT T #, shaaw g A fef 5. 1500(0R&RRQ000

el g‘q'éiﬁwﬁa‘@""aa e 7R R TS 500000

(c) Rs. 250000
(d) Rs. 300000
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Ramesh had 50 paise coins, Rs. 1 coins and Rs. 5 coins
in the ratio of 2 : 3 :5. The total amount of money with
Ramesh is Rs. 116. What is the number of 50 paise coins

with him?
WAIFIES0 T FRAFL, T 1 FRFME5RF2:3:5%
H g1 THI & IT9 T AV . 116 § IHH FRE6O0H &

&t ot
i i e g? (3) 6
(b) 4
(c) 12
(d) 8
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| 1! 0 _ tan60%—tan30°
9 A=tan30°and B = e

which of the relations stated below is true? SSC CGL 2020
f T T ST § F FI AT AT 87

!
|




R — — "

N = _ _
ERL V75 + /363 = VN, what is the value of N?

N =T AT AT 82 |
O SSC CGL 2018 |

:

(a) 438 |
(b) 729 |
(c) 768

(d) 27 ’l
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(a)0

(b) 1
(c) 2
(d) -1
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A sum of money invested at compound interest
doubles itself in 6 years. At the same rate of interest
it will amount to eight times of itself in —

FAHG (g SATST T AITIT AT & 6 T § IR(AT 3T (14T 2
STST T AT T I TG AT 3T H 1S AT et -
SSC CHSL 2020

years
(b) 18
years
(c) 10




1 If a number N is divided by 132 then we get 10 as
remainder. If N2 is divided by 12, what will be the

3 remainder?
Iie T G=qT N #7132 § fawrica fFar Smar g argd 10 9w

fAera 81 < N2 &t 12 & fawrisra R strar 8, av Suwer 14T

gII? SSC CGL 2018 (@4
(b) 12
(c) 10
(d) 8




Find the unit digit of the number 532375+ 819532 +87777 +

1 ggs02s 11218
AT FT TH(5 AH AT HIIQ

SSC CGL 2020




1 A right angled triangle with sides of 6 cm, 8 cm and
10cm. Find the ratio of in-radius and circum radius

\ f 5 respectively.
6 /Y, 8 |HT X 10 AT F 7T F AT TF THHIT AN

FHL: e AT ST TR F STUTd T 9T A0
SSC CPO 2016,2014
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By selling 33m. Cloth a shopkeeper loses money ' ’
equivalent to selling price of 11 m. Find his loss '
percentage’?
33 Y. HIST TAFL, TF ghAaL 11 HT HT fSshr 77 |
¥ A 4] THATT SBT3 ITHT THATT TAqT Aq |
HSrA? ssc crPo 2020 (a) I

25%
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A dishonest fruit seller sells fruits at 5% loss. If he
uses 850 gm weight in place of 1 kg weight, then what
is his profit percent?

TS ST Bl fashar 5% I 9wt S9a1 21 I 98 1
FetT TS & ST 9X 850 ATHITALRT IGHDINT HLAT %a‘r

|
JHHT ATH TAqqT FAT 8?7 (@) 11:-%

(b) 11—%

| (c) 11.5%
(d) 12.%




A cricketer gives 18.4 runs per wicket. He gives 60 runs
and takes 5 wicket in a match after which his average
8 becomes 18 per wicket. How many wickets had been

taken till the last match? | |
T fFee qia faFe 18.4 T T 81 98 TF A # 60 T <aT |
iaﬂtsﬁ%ﬁm%ﬁmﬁ?mwaﬂw%@lﬁ{ﬁ@@? |
SITaT 81 e &= o frae e Rro o 97 (a) 75

(b) 80 |
(c) 85
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Iffafe a=5, b =6, c =-10 then the value of T FTT FX
(a3+b3+c3)—3abc
(ab+bc+ca—a2-b2—c2) 7 SSC CGL 2018,2012
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At the centers of two circles, two arcs of equal length
subtend angles of 60° and 75° respectively, the ratio of
f O the radii of the two circles is :

T FAT F hal T€, AT AdqT8 & Qb 979w 600 3{T 750 +
0T AT 8, T I Dl AT FT AT 3
SSC CHSL 2020

(@)5:2
(b)5:4
(c)3:4
d)2:1




